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(3 Hours) G [Total Marks 180]

N. B.: 1) Question No. 1 is compulsory.
2) Attempt any three questions out of the remaining five questlons
3) Assume suitable data wherever necessary. S

1. Answer the following (any four):
a) State and explain central limit theorem. D PRI Ok
b) Show that the mean of the sum of random varlables is: the‘“s“um'o‘f*?thewmeans’: of &>
the random variables. i ' :
¢) Consider the five messages given by the probabll
Calculate average information and information _ate
d) The binary data 1101101011 is apphea’ fo. the inp
a pre-coder. Draw the duo-binary eﬁ’o@ - and cons
e) For the binary sequence 1011001 LGI»&:?M 1ot
i)RZ, iii)AMI, iv)RB, V) b1-phase M S

2. a) A discrete memory less source has an alphabet of f Ve symbols w1th thelr 12

Oxl\()» ’333\\ H.IK
mbol and’ Hetermme ‘the following

b)

AL e

3. a) ‘_Ihe generator kve ors “for- a; convoluhonal enéoder with code rate 1/3 are 10
\ ‘gl Iﬂ g2“101 and‘g3‘“*110 :

) %m the encoder cixagram and determme the code word for the input vector
- ()
u) ﬁ(aw“g;elhs dlagramand state: dkaggam
o] ”nrsggener% ated-usitig the polynomial g(x)= =(1+x+x°). Find the 10
Ata WOT  ~1) Q@ll ii) 0100(MSB) by long division method.
eﬁergtethe code word for the same data tracing the path

) }D\ra\w th@:encod\ ‘
ol "‘f_'@hmgfgh\the é X oder\

10

S R4 7b) g~w~ltj'r a‘\neat , ag a mﬁ, explam the working of the Integrate and Dump receiver. 10
' D@rﬁe:ﬂle expressmn for its probability of error.
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for 16-QASK and hence.

5. a) Draw the signal constellation
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N.B : (1) Question No.1 is compulsory.

Duration: 3 Hours

3%

) .

(3) Figures to the right indicate full marks.

QI)
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a) Explain the SFR’s required for Serial Commun

b) Explain the CPSR Register of ARM 7.
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¢) Explain the ARM 7 pipe'ine. Mechanism.

d) Draw the Memory Map of 8051 interna
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Q2) a) Explain in
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b) Write a program to trans
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t0,12,LSL 2 iv)CMP r0,r1

0des in 8051 with suitable examples.

@@ﬁister structure) in ARM?7.
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1) Question number 1 is compulsory.

&4

NOTE

inin

itable data wherever necessary, =~ =

2) Attempt any three questions from the rema

3) Assume su

.
.

L

x(t) +3 x(t+4) o
What is autocorrelation and cross correlation

x(n)+ n* x(n-1)

)y(n)
ii) y(t)

i

Check whether the following systems are lin

a
b

Q1

[+

property of Fourier transform.
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+4x(t)

= N
at

+35y (1)

dy(t)
dt

=0

|=-2 att

dy(t)
dt
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n200nt -2 cosl

i
frequency and the sampled vers

frequency. Sketch the waveform and show the sampling po

result.

5 cos50mt +2 s

Consider the analog signal x(t)

b

0n o

ling

s s

minimum samp

the

Convolve the following two signals in time domain

a

Q4

X () =2(t)*[u (t+2)-u (+-2)], h (D) =u (1) - u @

£
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Obtain Fourier

b

ower of an Energy signal is Zero.

(10)
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